
27" WOOD NESTING TABLE



Service@cozfurn.com



Please take the time to carefully read through the  whole of 
these instructions before you commence.

Keep these instructions for future reference.

Unpack, inspect and check off all of the contents.

Separate and count all your parts and hardware.

Children and pets should be kept from your assembly area if possible.Supervise children and 
pets if they are in the assembly area.

This item is heavy.Please handle with care.Two or more people are required for this assembly.

It would be sensible to lay a sheet or blanket on the floor where you intend to work to avoid
scratching this product and to protect your floor.

Assemble the product as close to its intended final position in the room as possible.

BEFORE YOU START



Service@cozfurn.com



...............................................................................................................................

...............................................................................................................................

...
...

...
...

...
...

...
...

..
...

...
...

...
...

...
...

...
..

...
...

...
...

...
...

...
...

..
...

...
...

...
...

...
...

...
..

...
...

...
...

...
...

...
...

..
...

...
...

...
...

...
...

...
..

1X1PC 1X1PC 1X1PC 1X1PC

� � � �

�
3X1PC

6X1PC

�
1X1PC

�
1X1PC

�
1X1PC

..................................................................................................................................
...

...
...

...
...

...
...

..

...
...

...
...

...
...

...
...

..

...
...

...
...

...
...

...
...

..

�

A

�

B

8X1PC

C

1X1PC42X1PC



Email:Service@cozfurn.com

      M6*10mm  Screw

6PCS

      M6*10mm  Screw

6PCS

4PCS



Email:Service@cozfurn.com

      M6*10mm  Screw

3PCS

4

4PCS

      M6*10mm  Screw

6PCS



5

      M6*10mm  Screw

6PCS

6

      M6*10mm  Screw

6PCS

Email:Service@cozfurn.com



7

      M6*10mm  Screw

3PCS

8

      M6*10mm  Screw

6PCS

Email:Service@cozfurn.com


